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It is a purpose to generate music using deep learning which is one of Al techniques.

In this research, development was done in c++ environment using Visual Studio. Tiny-DNN
was used as the Al library. Create training data in the CSV file, load it and do learning.
Similarly, output can be done with a CSV file, and the generated music can be played by
loading the outputted CSV file.

In conclusion, although I was able to produce music, it is not accurate and I have to think
about improving accuracy. Lack of training data and input perceptron is considered as a
cause.

Key words : Al deep learning, Tiny-DNN
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#define _CRT_SECURE_NO_WARNINGS
#define _SCL_SECURE_NO_WARNINGS

#include
#include
#include
#include
#include
#include
#include
#include
#include
#include

#include "tiny _dnn/tiny_dnn.h"
using namespace tiny _dnn;

<iostream>
<fstream>
<string>
<sstream>
<vector>
<cmath>
<iostream>
<stdio.h>
<math.h>
<random>

using namespace tiny dnn::layers;

using namespace tiny dnn::activation;

/*CSV D7A IV IAFH*/

char* readTextFile(const char* filename)

{

FILE *fp = NULL;

char

char* str = NULL;

buf[256];

int fsize;

/¥ T7AINDA—T> */

fp = fopen(filename,

if (fp == NULL) {
printf("Can't read
exit(1);

.¥n", filename);



}s

/* T7AIWNGAXDEIG */
fseek(fp, 9L, SEEK_END);
fsize = ftell(fp);

/* AEDBRIFER */

str = (char*)malloc(fsize * sizeof(char));

if (str == NULL) {
printf("Can't allocate memory. 'str' is NULL.¥n");
fclose(fp);
exit(1);

/[* D—OMEERBEICRY */
fseek(fp, 0L, SEEK_SET);

[* THERRANT—EDFHRAAH */

str[0] = '¥0';

while (fgets(buf, sizeof(buf), fp) != NULL) {
strncat(str, buf, strlen(buf) + 1);

/* T7AILDH/O—X */
fclose(fp);

return str;

}

void readCSVData(
double** pArray, /* CSV T—R&HNFAERSI */
int* pElems, /* CSVT—RADERE */
int* pRows, /* CSVT—RDITH */
int* pCols, /* CSVT—RDF% */
const char* filename /* csv 77AILDAH] */

) {
char *str = NULL;

char elem[15]; /* BREXFHELTIR */



char *ep = NULL;

int countNL = 9; /* BdTOD#EADIUE */
int countSep = 0; /* AUYDEEAIUE */
int cols = ©; /* BITDINBENAIUL */
int i, j, k;

double val;

/* THXRRANIF7AILDEHAH */
str = readTextFile(filename);

/* BERY, 178, JBOERSG */
for (i = 0; i < strlen(str); i++) {
switch (str[i]) {
case ',': countSep++; cols++; break;
case '¥n':
countNL++; cols++;

*pCols = (*pCols > cols) ? *pCols :

cols = 0;
break;

}

*pRows = countNL;
*pElems = countSep + countNL;

/* CSV T—H&MM ARSI DER */
*pArray = (double *)calloc(

cols;

(*pRows) * (*pCols) * sizeof(double), sizeof(double));

if (*pArray == NULL) {

printf("can't allocate memory. '*pArray' is NULL. ¥n");

free(str); str = NULL;
exit(1);

/* CSV T—RZERMAETI~aE— */
i=3j=20;
k = 0; elem[0] = '0'; elem[1] = '¥0';
while (j < (*pRows) * (*pCols)) {

if (i < strlen(str)) {



switch (str[i]) {
case ',': case '¥n':
val = strtod(elem, &ep);
if (*ep != '¥0") {
printf("Warning (%d, %d): "
"Conversion may be incorrect. ¥n",
j / (*pCols), j % (*pCols));

}
(*pArray)[j] = val; j++;
if (str[i] == '¥n') {
while (j % (*pCols) > 0) {
(*pArray)[j] = 0.0; J++;
}
}
k = 0; elem[0] = '0"; elem[1] = '¥0';
break;
default:

if (k + 1 < sizeof(elem)) {
elem[k] = str[i]; elem[k + 1] = '¥0'; k++;
}
else if (k + 1 == sizeof(elem)) {
printf("Warning (%d, %d): "
"Too many digits. ¥n",
j / (*pCols), j % (*pCols));

K++;
}
break;
}
i++;
}
else {
(*pArray)[j] = 0.0; J++;
}

/* AEVEBICHERT SO THRBDDLE */
free(str); str = NULL;



return;

int main(int argc, char* argv[]) {
const int num = 500;

double mirikun[30];

const char *filename = "dataS5.csv"; [/ EBEBRT—32D CSVI7AILD
220

double *data = NULL;

int elems = 9; /* @EZEH */

int rows = 9; /* {TD% */

int cols = 9; /* BID#E */

std: :vector<tiny dnn::vec_t> input;

std: :vector<tiny dnn::vec_t> output;

/* BIEMD csv I7MILDBRIERG */
if (argc >= 2) {
filename = argv[1];

/* CSVT—RDERIA */
readCSVData(&data, &elems, &rows, &cols, filename);

*EBEAIAATZ CSV IT7AILD LTI BERH. 17. JIDRKR*/
/* printf("¥n");

printf("filename = %s¥n¥n", filename);

//printf("EXRE = %d¥n", elems);

//printf("{T8 = %d¥n", rows);

//printf("51% = %d¥n", cols);*/

/* data[i*cols+j] = i T jHNDESD */
for (int 1 = 0; 1 < rows ; i+=2 ) {

printf("¥nNo.%d¥n", i / 2);

.

tiny dnn::vec_t vx;



for (int j = 0; j < 2; j++) { /! F=AADELTHKSE
DEH, §El& BPM, BEE D2 DD T2
const float x = data[i*cols + j];

if (3 !'= 1) {

printf("BPM = %.0f, ", X);
}

else {

printf("&f& = %.0f", X);
}
vXx.push_back(x);
}
input.push_back(vx);
printf("¥n");

// HH

tiny _dnn::vec_t vy;

for (int n = 0; n < cols; n++) {
const float y = data[(i+1)*cols + n] ;
printf("%.0f,", y );

vy.push_back(y/100);

}
output.push_back(vy);

//printf("¥n");
int i = 0;

[*Za—FIILRYRT—IDIER*/
tiny _dnn::network<tiny dnn::sequential> net;

/¥ Thn*/

net << fc(2, 100) //fc( AN FREEH)
<< tiny_dnn::tanh_layer();

net << fc(100, 188) //fc(FERBE. HHE)

188:data5//182:data9
<< tiny_dnn::sigmoid_layer();



auto loss = net.get _loss<cross_entropy multiclass>(input,output);
printf("¥nloss -> %1f¥n", loss);

adagrad opt;

net.fit<mse>(opt, input, output, 4, 1000); //(...H2UTILDOE-%
B T—2DE. TRy -FEEE)

loss = net.get_loss<cross_entropy multiclass>(input, output);
printf("loss -> %1f¥n", loss);

printf("¥n¥n");

[*CCETRICEE T —22FERATH56(F 2 EBUBRORTRIAVNT UM S
ERTMNELGD*/

//net.load("teacher"); //LEFITHWEERHZEIAVLTIRLIZBIOITOO
AURNTIRESNT

float bpm = 0.0;

float no = 0.0;

[¥*ANEEZ%, COEIZK>THANEILT S/
printf("AJ11>>");

scanf("%f" ,&bpm);

printf("AJ12>>");

scanf("%f" ,&no);

printf("¥n AHfE : %.0f , %.0f¥n",bpm,no);

tiny dnn::vec_t input2 = { bpm, no };
vec_t a = net.predict(input2);

using namespace std;

ofstream log;

log.open("log.csv", ios::trunc); // ofstreamlog("log.csv")THHA,
E 258D trunc (FRBI7AILDH =B EICIILUFTIORBEL THET . LLVSATY
32,

/*CSV I7AIVIZRTFTR T */



log << bpm;
log << ",";
for (int k = 0; k < cols; k++) {
printf("%.0f,", round(a[k] * 100)); //a[k] k=0~cols ZEH#aiZ®m
{E *100 TEEDIEIZH S, round() TESEEBHIZTES,
log << round(a[k] * 100);
if(k < cols - 1) {

log << PR
}
log << "¥n";
log.close();
net.save("teacher");

printf("¥n");

return 0;



FERELET T TNV —Ra—]

[FERERTOT T L/

t#tdefine
t#tdefine

#include
#include
#include
#include
#include
#include
#include

#include

#pragma

int save
int v=0;
int b =
int pop
int bpm

_CRT_SECURE_NO_WARNINGS
_SCL_SECURE_NO_WARNINGS

<iostream>
<fstream>
<string>
<sstream>
<vector>
<windows.h>
<mmsystem.h>

<tchar.h>

comment(lib, "winmm.1lib")

:9;

1} 1}
® o
e e

/*CSV D74 ILDEFRFHIAF*/

char* re
{
FILE
char
char

int

adTextFile(const char* filename)

*fp = NULL;
buf[256];
* str = NULL;

fsize;

/* T7AILDFA—T */

fp =
if (

}s

fopen(filename, "r");

fp == NULL) {

printf("Can't read '%s'.¥n", filename);
exit(1);



/* T7ANYAXDEG */
fseek(fp, 0L, SEEK_END);
fsize = ftell(fp);

/* AEYDBIRIFER */

str = (char*)malloc(fsize * sizeof(char));

if (str == NULL) {
printf("Can't allocate memory. 'str' is NULL.¥n");
fclose(fp);
exit(1);

[* —OMBEERBEICET */
fseek(fp, 0L, SEEK_SET);
/* TERRNT—EDHEHRAH */
str[@0] = '¥0’;

while (fgets(buf, sizeof(buf), fp) != NULL) {
strncat(str, buf, strlen(buf) + 1);

/* T7ANDYA—RX */

fclose(fp);

return str;

void readCSVData(

double** pArray, /* CSV T—R&HMFABCS| */
int* pElems, /¥ CSVT—RDERE */
int* pRows, /* CSVT—RDITH */
int* pCols, /* CSVT—2DFN# */
const char* filename /* csv 77AILDAREI] */

) {
char *str = NULL;

char elem[15]; /* BREXFHELTHEM */
char *ep = NULL;



int countNL = @; /* BITOHEAIUE */
int countSep = 0; /* AUYDEEAIUL */
int cols = 0; /* BITDINEEADOUL */
int i, j, k;

double val;

/* TXRNI7AILDERAHAH */

str = readTextFile(filename);

/* BRY, 78, HNHOREF */
for (i = 0; i < strlen(str); i++) {
switch (str[i]) {
case ',': countSep++; cols++; break;
case '¥n':
countNL++; cols++;
*pCols = (*pCols > cols) ? *pCols : cols;
cols = 9;

break;

}

*pRows = countNL;

*pElems = countSep + countNL;

/* CSV T—R&AM ARSI DAERL */
*pArray = (double *)calloc(
(*pRows) * (*pCols) * sizeof(double), sizeof(double));
if (*pArray == NULL) {
printf("can't allocate memory. '*pArray’ is NULL. ¥n");
free(str); str = NULL;
exit(1);

/* CSV T—RERMABII~NIE— */
i=3j=0;
k = 0; elem[0] = '0'; elem[1] = '¥0';
while (j < (*pRows) * (*pCols)) {
if (i < strlen(str)) {
switch (str[i]) {



case ',': case '¥n':
val = strtod(elem, &ep);
if (*ep != '¥0") {
printf("Warning (%d, %d): "
"Conversion may be incorrect. ¥n",
j / (*pCols), j % (*pCols));

}
(*pArray)[j] = val; Jj++;
if (str[i] == '¥n") {
while (j % (*pCols) > 0) {
(*pArray)[J] = 0.0; Jj++;
}
}
k = 0; elem[@] = '0'; elem[1] = '¥0";
break;
default:

if (k + 1 < sizeof(elem)) {
elem[k] = str[i]; elem[k + 1] = '¥0'; k++;
}
else if (k + 1 == sizeof(elem)) {
printf("Warning (%d, %d): "
"Too many digits. ¥n",
j / (*pCols), j % (*pCols));

k++;
}
break;
}
i++;
}
else {
(*pArray)[J] = ©.0; J++;
}

/* AEVEBHICHERT DO THRBNBE */
free(str); str = NULL;

return;



/*BEREALIR DR+ /
int midi(int* v) {
switch(save) {

case 84:
*v = Ox7f5490; // BBEEZFINT C7 0x54(84) 127 FxRIL 0
break;

case 83:
*v = Ox7f5390; // BE#E%IMY B6 0x53(83) 127 Fr Rl 0
break;

case 82:
*v = Ox7f5290; // $EEEHT A+,B-6 0x52(82) 127 Fx R0
break;

case 81:
*v = Ox7f5190; // BE#EFIWY A6 0x51(81) 127 Fr Rl 0
break;

case 80:
*v = Ox7f5090; // HEEEHT G+,A-6 0x50(80) 127 Fx R0
break;

case 79:
*v = Ox7f4fo0; // BIBEEWHT G6 ox4f(79) 127 Fx=RIL 0
break;

case 78:
*v = Ox7f4e90; // BEFEEIHI F+,G-6 Ox4e(78) 127 FIURIL O
break;

case 77:
*v = Ox7f4doe; // RIEEHT F6 ox4d(77) 127 Fx xR0
break;

case 76:
*y = OX7f4c90; // BBEEWY E6 ox4c(76) 127 FI kI 0//
break;

case 75:
*v = Ox7f4boe; // $ESEFIRY D+,E-6 0x4b(75) 127 FIRIL O
break;

case 74:
*v = Ox7f4a%e; // HEEIYT D6 oxda(74) 127 FIoHIL 0

break;



case 73:
*y = Ox7f4990;
break;

case 72:
*y = Ox7f4890;
break;

case 71:
*y = Ox7f4790;
break;

case 70:
*v = Ox7f4690;
break;

case 69:
*v = Ox7f4590;
break;

case 68:
*v = Ox7f4490;
break;

case 67:
*v = Ox7f4390;
break;

case 66:
*v = Ox7f4290;
break;

case 65:
*v = Ox7f4190;
break;

case 64:
*v = Ox7f4090;
break;

case 63:
*v = Ox7f3f90;
break;

case 62:
*v = 0x7f3e90;
break;

case 61:
*v = Ox7f3d90;

// BEREEY C+,D-6 0x49(73)

// BEEHIRT C6 ox48(72) 127

// $EfEEHIRY BS ox47(71) 127

/] BEPEEIY A+,B-5 0x46(70)

// SEfHEEIT A5 0x45(69) 127

/] BEREEIY G+,A-5 0x44(68)

// BEHEEIT G5 0x43(67) 127

// BEEIHT F+,G-5 0x42(66)

// BEBEEIT F5 ox41(65) 127

// BEEEF ES oxd0(64) 127

// BEEEEIRT D+,E-5 Ox3f(63)

// SBEEIT D5 ox3e(62) 127

// $EFEII C+,D-5 ox3d(61)

127 FxoRJL

FoRIL 0

FoRIL 0

127 FzRJIL O

Fzo)L 0

127 FxoRJL O

FoRIL 0

127 FxRJL O

Fo)L 0

Fo)L 0

127 FxRJL O

Fo)L 0

127 FxoRJL O



break;

case 60:
*v = Ox7f3c90;
break;

case 59:
*v = 0x7f3b90;
break;

case 58:
*v = 0x7f3a90;
break;

case 57:
*v = Ox713990;
break;

case 56:
*v = 0x713890;
break;

case 55:
*v = Ox7f3790;
break;

case 54:
*v = Ox7f3690;
break;

case 53:
*v = @x7f3590;
break;

case 52:
*v = Ox713490;
break;

case 51:
*v = @x7f3390;
break;

case 50:
*v = Ox713290;
break;

case 49:
*v = 0x713190;
break;

case 48:

// SEEEHIRI C5 0x3c(60) 127

// $EHEFIRI B4 0x3b(59) 127

// BEREEY A+,B-4 0x3a(58)

// BEHEEIT A4 0x39(57) 127

/] BEREEIY G+,A-4 0x38(56)

// BEHEET G4 0x37(55) 127

// BEEHT F+,G-4 0x36(54)

// BE8EET F4 ox35(53) 127

// BEREET E4 ox34(52) 127

// BEEEEIRT D+,E-4 0x33(51)

// SEEIHT D4 0x32(50) 127

// BBEEEIRT C+,D-4 0x31(49)

FoRIL 0

FoRIL 0

127 FxRJL O

FoR)L 0

127 FzoRJL

FoRIL 0

127 FxRJL O

Fo)L 0

Fo)L 0

127 FxRJL O

Fo)L 0

127 FxRJL O



*v = Ox713090;
break;

case 85:
*y = Ox7f5590;
break;

case 86:
*y = Ox7f5690;
break;

case 87:
*y = Ox7f5790;
break;

case 88:
*v = 0x7f5890;
break;

case 89:
*y = @x7f5990;
break;

case 90:
*v = Ox7f5a90;
break;

case 91:
*v = Ox7f5b90;
break;

case 92:
*v = Ox7f5c90;
break;

case 93:
*v = 0x7f5d90;
break;

case 94:
*v = 0x7f5e90;
break;

case 95:
*v = Ox7f5f90;

break;
default:
*v = 0;

break;

// BEREFY C4 ox30(48) 127 FIRIL 0O



}

return *v;

/*ERESHLIUDADEHEHK*/
int msc(int* b) {
switch (pop) {
case 1:
*h = (60000 / bpm) * 4;
break;
case 2:
*b = (60000 / bpm) * 2;
break;
case 3:
*b = (60000 / bpm) * 2.5;

break;

case 4:
*b = (60000 / bpm) ;
break;

case 5:
*b = (60000 / bpm) * 1.5;
break;

case 6:
*b = (60000 / bpm) * 0.5;
break;

case 7:
*b = (60000 / bpm) * 0.75;
break;

case 8:
*b = (60000 / bpm) * 0.25;
break;

case 9:
*b = (60000 / bpm) * 0.25;
break;

default:
*b = 0;
break;



return *b;

void _tmain(int argc, char* argv[]) {

HMIDIOUT h;

const char *filename =
"C:/Users/satoy/Source/Repos/Project6/Project6/log.csv"; //HEMTAT S LTI
1-#ERD sV I7AIL

//const char *filename = "HAT—%.csv"; //T7ANEETICHE>TE-HEH

double *data = NULL;

double y[256] = { 0.0 };

int elems = 0; /* £EFRH */

int rows = /* fTDE */

0;
0; /* FIDE */

int cols =

/* BIEMG csv I7AILDARIZEEF */
if (argc >= 2) {

filename = argv[1l];

/* CSVT—HDEA */

readCSVData(&data, &elems, &rows, &cols, filename);

printf("¥n");
printf("filename = %s¥n¥n", filename);
// printf("ERH = %d¥n", elems);
[/ printf("1T8 = %d¥n", rows);
//printf("5I% = %d¥n", cols);
//const double y[60] = { 0.0 };
for (int i = 0; i < rows; i += 2) {

//printf("¥nNo.%d¥n", i / 2);

for (int n = ©; n < cols; n++) {



y[n] = data[n];
printf("%.0f,", y[n]);

}
printf("¥n");

midiOutOpen(&h, MIDI_MAPPER, ©, 0, 0);

#if 1
midiOutShortMsg(h, 0x0); /] BREEE 7IA—ATAYIET/ 0x0(0)cco

bpm = round(y[@]);

int count = ©;

for (int 1 = 1; i < 183; i++) {//189:data5,183:data9

if (y[i] == o||y[i]==1) {
pop = y[i+1];
msc (&pop) ;
Sleep(pop);

}
else if (y[i] > 20) {

save = y[i];
midi(&save);
midiOutShortMsg(h, save);
count++;
i++;
if (y[i] > 20) {
save = y[i];
midi(&save);
midiOutShortMsg(h, save);
count++;
i++;
}
if (y[i] > 20) {
save = y[i];

midi(&save);



midiOutShortMsg(h, save);
count++;
it++;

}

pop = y[i];

msc (&pop) ;

Sleep(pop);

for (count; count > ©@; count--) {
save = y[i] - count;
midi(&save);
midiOutShortMsg(h, save);

Sleep(1000); [/ BEDARD2EENHRNKSICT B DAUIE

#tendif
}
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